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ARTICLES OF INCORPORATION

ARTICLE I NAME B
The name of the comporation shall be:

Alux, Inc.

In compliance with Chapter 607 and/or Chapter 621, F.S. (Profit)

?g; =
ARTICLE i PRINCIPAL OFFICE rr_'_%; é":.
The principal place of business/mailing address is: %5’; -
60 Bricel) Ave. svite 203A TE D
- Y
Woret, FL, 3313) o Z
ARTICLE Il __PURPOSE - T @
. The purpose for which the comporation is organized is: =2 YZZ-,
To pewvide wstowwe, assisSramc? to 2
StWOT Lo 0aNn @S
ARTICLE IV SHARES
The number of shares of stock is:

3—'00 o,,J( & 9"1‘0.2
ARTICLE V

INITIAL OFFICERS /DIRECTORS {optional)
The name(s) and address{es):

'[lo&ri(‘ag Diez 1537 S 104 Te

; Miami $L,33196

ARTICLE Vi

REGISTERED AGENT _
The name and Florida street address of the registered agent is:

Todrige PAeE11593) S A0Y Test, Mo T 331F6

ARTICLE VIi

INCORPORATOR
The name and address of the Incorporator is:

Rodn qo Digr: DY Sw A e,

. M;M} FL} 331qe
Y
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Having been named as registered agent to accept service of process for the above stated corporation at the place designated in this
ate, [ am familigr with and aceept the appointment as registeved agent and agree to act in this capacity

Signﬁ%ure@kegisxcmd Agent
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